Mtociny

TABELA A

Zatacznik nr ...

Wilanowska

Wilanowska 5(2015r.)
23% +8(2016r.) = 13
Dw. Wschodni
Dw. Gdanski
Mtociny
Wilanowska 2(2015r.) +
23% 2(2016r.) =4
Dw. Wschodni
Dw. Gdanski
Mtociny
Wilanowska 23 1(2015r.) +
Dw. Wschodni 1(2016r.) =2
Dw. Gdanski
Mtociny 23% 1(2016r)=1




Ursus Niedz.

Mtociny
1(2015r)+1
Wilanowska 23% (2016r.) =2
Ursus Niedz.
Mtociny
1(2015r.) + 2
0,
Marymont 23% (2016r.)=3
Stoklosy
1(2015r)+1
Mtociny 23% (2016r.) =2
L 1(2015r)+1
0,
Dw. Gdanski 23% (20161) = 2
. 1(2015r.) + 2
0,
Wilanowska 23% (2016r) = 3
Marymont 5(2015r.) + 8
23% (2016r.) =13
Al. krakowska
Marymont
2304 2(2015r.) + 1
(2016r.)=3
Al. krakowska
Marymont
23% 1(2015r.) + 2

Al. krakowska

(2016r.) = 3




Mtociny

Ursus 7 (2015r.) + 10
o .
Lo 23% (2016r.) =17
Dw. Gdanski
Stoklosy
Mtociny
Ursus 1(2015r)+1
23% (2016r.)=2
Dw. Gdanski

Stoklosy




Tabela B

102(2015r.) +
112 (2016r.)= 214

Zatacznik nr ...

23%

7 (2015r.) +
55 (2016r.) = 62

23%

14 (2015r.) +
14 (2016) = 28

23%

13 (2015r.) +
13 (2016r.) = 26

23%

125 (2015r.) +
154 (2016r.) =
279

23%

6 (2015r.) +
9 (2016r.) = 15

23%

18 (2015r.) +
19 (2016r.) = 37

23%

14 (2015r.) +
14 (2016r.) = 28

23%

14 (2015r.) + 14
(2016r.) = 28

23%

1 (2015r.) + 3
(2016r) =4

23%

5(2015) =5

23%

10 (2015) + 10




16.

Razem:

(2016) = 20

23%

2 (2015) + 4
(2016) =6

23"%

28 (2016) = 28

23%

1(2015)=1




